1.e. the ship is 1920 m from Kirsty

Compass Questions 1 5200
Q1 N (i) cos75° = 4 Qs N
4 60 A cosd2° = X
L Y d = 60cos75° 18
u ~15.5 nm Home x =18cos42°
=13.376...
d 60nm o oo _ M 42°
752 (iD)sin75° = 2 18lm 774 | x i.c. 13.4km south
X m = 60sin 75° i
=58.0 nm
2 Q6 N
Q p A
tan52° = AS .
100 km 100 sin35° =735
x =100tan52° 35 )
127994 435km d = 435sin35°
. T = 249.505...
Y 1.e.128.0 km from P
S d
3 1.e. Malis 249.5 km east of Alice Springs
N d Q7
N pno_ A N
A (1)sin23 1500 ; o_ d_
R (1) tan34 153
m \, d =1500sin23° J =153tan34
o o X = °
] 233247 — 586.096... d 56° 03 tfgg
Sl i.c. 586.1km south of P 34 | IR
N 153km |E 1.e. 103.2 km away
a m
(i) c0s23° = ——
1500 (ii) cos34° =153
m =1500co0s23° x
— 1380.757... x= %
1.e. 1380.8 km west of P —184.551...
Q4 1.e. 184.6 km from original position
N
A Q8 58
y N (i) tan40° = —
S tart
K (@) cossoe = 1500 20 Y A x: -
) ] 1500 m v 1500 tan40°
32 c0s52° % =69.121...
J =2436.403..m >8km i.e. 69.1 km east
| 308° ie. 2436 m from Jake
y (nearest metre) H 40 ; (ii) sin40° = 38
. o_ ™ y
(i1) tan52 1500 310° 58
y =1500 tan 52° Y = §in40°
=1919.912..m =90.231...

1.e. 90.2 km from the start
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